NTS #8785 46 = F2 LCX-S-2KN

W
LCX-S-2KN
LCX-S-3KN
LCX-S-5KN
LCX-S-10KN
LCX-S-20KN

* o IBUR A AL HE %

WUERE(r.c)  FeHds T DAZER AR DI E i KA i

SOOI b B RS K AR A2 8 AT RE WA N B Ay X A 7 B 1 0 BRI
BUER M TIFN BUE R RZE G O T DR K AL AL mv /v R SR AR
FEELNE R 2k T S A I T SR MVRE i T L ) e Kl 2 ] BTUE Th R
ForHRIE . AR, Gf SR e 1

FEEARMER YK

A TREREEROLA
IZ8lvhi-ER

A

F @

=]

0 HA — 9% 100
IESGHETE S



100

F =m

=]

0 Mh — % 100

G Ao B JIN B AR 7 i 2 B ) A ) 22 A K, X 0 B HH 2 3 23 BEARIE

JRENE AR R G A 25 AR AT [ 16l Bl 2% APF 7 T s 2R ) B 2 22 1K) e R A {6 1 220 5
SETIR A ERIE .

PRSI e T DA A SO L RE O30, S0 F s (0 5 K fE

FCVFAMINER R e e s LS AN A2 R AR I0T I HE 7 A/ Fe s AR A2 T ik 2 LS P 471
NS HNIR

BNFHAEST AT IR A\ S A e AR DU

MEIRPL PR A AN i as BN 18 B ARPUE . 38 desov EATINE »
IRPEEAMEVER AU i D AR R R S e AN e AR A UL VE T
VIRV AT REER I RS AR AR RIS L A AT RE A TR R Y

R 51

TP A BRI A A SR A Z 2 B3R AL, B 1°CAIUE Bt HH D AR A AR A R o e
PRI

R 51

S RSN L R PR AR A SRS PR B DR (K AR A, B 1 C AR A i R BRI
K311 P

S|

BOERE wrmnnrens 2kn~20kn

BRI IR (e mnnnns 2mv/vt1% (3 2 kn, kn 1.5 mv / v+1%)
JEEL e 0.1%r. 0.

TR -eeeeeene 0.1%r.0.%(2kn,30.15%knr.0.)
S = IR 0.05%r. 0,

HEFZAM IR veeeees 10 v

FVFAMI L oeeveeee 15 v

NG AR 350w-+1%
gtz ] IR R 2000 mw-LL k=

I BEAMETE e -10~+70°C

RV LG e -20~+80°C

5| B B Z 7y B2 - £0.01% r . 0. /C
T BE 5| 7S 4 D AR (R 2 -+ +0.01% /°C
/0374 7 R TR 120%r . Co



6 DU Bl BB e eemee e dEZ 3K
i O 9 AN

T
2kN~5kN 10kN, 20kN

(=] :"I..'__ > \
- &4
f .
26r-7" 4 I‘—‘
H

=16 b hx = T
o=} § 4 &3
% 15 (7" %3v) %( oG #7" ¥3v)
- -
\/ i m . ) =
>) ik
/S

2

25

25
)
)

INZ

H

(2.5)
1
=
P
(L)
2 I&, la—
1

(24)




